Generation of the mean flows
by anisotropic forced turbulence
Atefeh



How does the NSSL form?

Study NSSL o

It has 2 major properties
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Simulation setup
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Measure Lambda-effect

par  value

kg 10
Upms ~ 0.13
Re 13
Ma 0.04

Suppress the mean flow
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Measuring H
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Correction

L OW)

I ry
Tl a D
Soal 6=90" __6=30
Ll =75 __6=15
7
i)
W

< axy{f\)>z_ < azy("'\(o))>z [ 10_3]

N e

[4V]

(=]




f

What can be checked?

1. isotropic forcing with 2 =07?
2. higher kf?

3. higher Reynolds number?




|sotropic forcing

* Change the amplitude of forcing to get the same Re and kf=10
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Figure 27: comparison of the Reynolds stress at o = 0 both stress-free BC (left panels) and periodic
BC (right panels) runs using isotropic forcing. The red line shows the error-weighted mean of stresses.

Isotropic anisotropic (SFBC)
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" Higher kf & Re
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